
1-21

x2

60 Mins

CUSTOMER FIRST, SERVICE FOREMOST!
Questions? lssues?

CONTACT US
REPLY WITHIN 24 HOURS IN BUSINESS DAYS



Fittings

Exploded View

M6 x 35 mm
A x 36

φ15 x 9.5 mm
B x 36

φ3 x 14 mm
G x 6

φ8 x 30 mm
C x 27

H x 3

φ4 x 35 mm
D x 20

310mm
E x 6

φ3 x 12 mm
F x 15 I x 3

K x 3

2-21

L x 3
M4 x 16 mm

M x 3
φ2.5 x 12 mm

N x 24 O x 12

 φ4 x 12 mm
P x 4

 φ8 x 50 mm
U x 2

Q x 2
φ4 x 40 mm

R x 2
φ5 x 30 mm

S x 2 T x 2

V x 6 W x 1

x3

1

2

3

4

14

8

9

11

12

13

13

9

10

4

5

1516

1718

19

6

7

7

7

6

J x 12
M4 x 10 mm



Panel List

1

Label Part Image Description Qty

Top Panel

Left Side Panel

Right Side Panel

Median Panel

Door

Door

Adjustable Shelf

Front Median Support Bar

Front Median Support Bar

Back Support Bar

Bottom Panel

Skirt Bar

Support Leg

Back Panel 

x1

x1

x1

x2

x1

x2

x3

x1

x2

x1

x1

x1

x2

x1

2

3

4

5

6

7

8

9

10

11

12

13

14

3-21



Panel List

15

Label Part Image Description Qty

Drawer Front Panel

Drawer Left Side Panel

Drawer Right Side Panel

Drawer Back Panel

Drawer Bottom Panel

x3

x3

x3

x3

x3

16

17

18

19

4-21

Flow Chart
Assemble the Slides

Assemble the Cabinet Frame

Assemble 3 Drawers

Insert Drawers into Cabinet Frame

Assembly Finished



Step 1

x2φ3 x 12 mm
F x 8

310 mm
E x 4

F

F

4
4

4
4

x 2
4

E

E

E
F install the first holeI

F

E

E

F

E

FII install the third hole

E
Finstall the second holeI

E

FII install the second hole

Install the other side

W x 1

Screwdrivers can be converted to Phillips and Slotted.

PULL UP

I II

OR

III

5-21

M6 x 35 mm
A x 4

A

A



Step 2

6-21

x 1
8

x 2
9

φ3 x 14 mm
G x 6 H x 3

G
G
H

8 G
G
H

9

4

4

x2

Step 3
φ15 x 9.5 mm

B x 2

U

U

 φ8 x 50 mm
U x 2

B

B

The eccenters need to be tightened,
"+" sign for torsion direction.

9

The side with magnetic attraction faces outward.

W x 1

W x 1

G
G

H



Step 4

7-21

8

9

9

4

4

10

Step 5

φ15 x 9.5 mm
B x 2

B

B

φ4 x 35 mm
D x 2

x 1
10

D

D

Attention：
Ensure that each eccenter is tightened.

W x 1

W x 1



Step 6

8-21

Step 7
x 1
12

x 1
11

M6 x 35 mm
A x 2

A

A

C

C

C
B

B

φ15 x 9.5 mm
B x 2

φ8 x 30 mm
C x 3

11

11

12

Attention：
Ensure that each eccenter is tightened.

W x 1

W x 1



Step 8

9-21

Step 9

x 2
13

φ8 x 30 mm
C x 4

13

13

11

11

4

4

φ4 x 35 mm
D x 4

C

C

D

D

C

C

D

D

φ4 x 40 mm
R x 2

R

W x 1

W x 1

R



φ3 x 12 mm
F x 2

F
E

I install the first holeI

E
F install the first hole

E

FIIII install the third holeFinstall the third hole
E

M6 x 35 mm
A x 10

x 1
2

x 1
3

E x 2
φ3 x 12 mm

F x 2

F

F

2

2

3

3

E

E

F
F

10-21

A

A

A

A

A

A A

A

A

A

Step 10

Step 11

310 mm

W x 1



B

11-21

φ15 x 9.5 mm
B x 4

Attention：
Ensure that each eccenter is tightened.

φ8 x 30 mm
C x 6

C

C

C

C

C

B

B

C

B

2

8

11

11

2

Step 12

B
C

C

B

C

B

12

W x 1

T

T

T x 2



B
C

C

12-21

Attention：
Ensure that each eccenter is tightened.

3

3

B

B

C

C

C

C

B

9

11

11

Step 13
φ15 x 9.5 mm

B x 4
φ8 x 30 mm

C x 6 W x 1

B
C

C

B

C

B

12



13-21

φ15 x 9.5 mm
B x 2

Attention：
Ensure that each eccenter is tightened.

B

B

3

10

x 1
1

M6 x 35 mm
A x 8

1

Q x 2

A

A

A

A

A

A

A

A

P
P

P
P

Q

Q

Step 14

Step 15
 φ4 x 12 mm

P x 4

P
P

Q

W x 1

W x 1



14-21

1

14

φ15 x 9.5 mm
B x 8

x 1
14

Attention：
Ensure that each eccenter is tightened.

φ8 x 30 mm
C x 8

C

CC

C

C

B

B

B

B

B

B

B

B C

C C

φ2.5 x 12 mm
N x 24

N
N

N

N

N

N

N

N

N

N
N

N

N

N N

N

N
N

N

N
N

N

N

N

Step 16

Step 17

W x 1

W x 1



15-21

S

D

S

D

φ4 x 35 mm
D x 2

φ5 x 30 mm
S x 2

Step 18
W x 1

S

D

Tips: Recommend using the included pieces to
attach the product to the wall to avoid toppling.



16-21

x 1
5

x 2
6

φ3 x 12 mm
F x 3 I x 3

M4 x 16 mm 
M x 3 V x 6

F F

M

K

V

V

M

K

V

V

5 6

x2

Step 19

Step 19

K x 3 W x 1

II

I

5

6

6

Step 20

V

Align the 
bottom hole 
first and snap 
V into

The V is retract-
able, snap into 
the hole on the 

top as shown



17-21

O x 12

O
O

O
O O

O
O

O

O
O

O

O

Step 22
x 3
7

7

7

7

Step 21

O



18-21

Step 23
M6 x 35 mm

A x 12
x 3
15

A
A

A
A

15

x3

J

J

L

J x 6
M4 x 10 mm

L x 3

W x 1

D

x 3
16

x 3
17

x 3
18

φ4 x 35 mm
D x 12

D

D

D

x3

16

17
18

Step 24

W x 1



19-21

Step 25
x 3
19

x3

19

Step 26

15

φ15 x 9.5 mm
B x 12

B

B

B

B

16

x3

Attention：
Ensure that each eccenter is tightened.

W x 1



Step 27
J x 6

M4 x 10 mm

J

J J

J

PUSH

E

pull out the rail from 
the cabinet frame

I

Drawer

slot in drawerII

J

align the hole circled 
in Figure IV with the 
hole of the drawer 
and screw the J to 
holes from the inside 
of the drawer

III

IV

15

15

J

J

15

20-21

W x 1



Step 28

21-21




